PLANT ENTERPRISES PRODUCTION

	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Hardwood					7,761	cords	
Pulpwood (Total)					7,761		
Saw Timber							
Hardwood					353,502	board feet	
Saw Timber (Total)					353,502		
Total Pulpwood, Chip & Saw,							\$773,909
Saw Timber FOB Mill							
Total Forestry Stumpage							\$261,735
(Total)							
Christmas Trees (Total)	*				580	trees	\$23,200
Forestry (Total)							\$797,109
FRUITS							
Blackberries (Total)	*	0.3	1,000.00		300	pints	\$525
Citrus							
Navels	*	1.0	275.00		275	bu.	\$5,500
Satsumas	*	15.0	500.00		7,500	bu.	\$150,000
Other Citrus	*	1.0	200.00		200	bu.	\$3,600
Citrus (Total)		17.0					\$159,100
Figs (Total)	*	1.0	500.00		500	lbs.	\$875
Mayhaws							
Orchard	*	2.0	250.00		500	lbs.	\$650
Mayhaws (Total)		2.0					\$650
Peaches (Total)	*	0.3	50.00		15	bu.	\$600
Fruits (Total)		20.6					\$161,750
FEED GRAINS							
Grain Sorghum (Total)	*	412.0	95.00		39,140	cwt.	\$140,121
Feed Grains (Total)		412.0					\$140,121
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	2,880.0	3.30	Yield / sq. ft.	9,504	lbs.	\$11,880

Greenhouse Vegetables (Total)		2,880.0				\$11,880	
HAY FOR SALE		ŕ					
Grass (Total)	71	2,905.0	3.50	10,167	tons	\$610,020	
Hay for Sale (Total)		2,905.0				\$610,020	
Home Gardens (Total)	6,600					\$1,716,000	
NURSERY CROPS							
Fruit and Nut Trees (Total)	*				acre	\$8,000	
Floraculture & Bedding	6				acre	\$275,000	
Plants (Total)							
Woody Ornamentals (Total)	*				acre	\$8,000	
Foliage Plants (Total)	*				acre	\$8,000	
Nursery Crops (Total)						\$299,000	
Rice (Total)	310	76,361.0	55.90	4,268,579	cwt.	\$30,093,482	
Soybeans (Total)	21	5,100.0	29.00	147,900	bu.	\$874,089	
SUGARCANE							
Raw Sugar (Total)	42	28,945.0	3,990.00	115,490,550	lbs.	\$14,170,690	
Molasses (Total)		28,945.0	120.00	3,473,400	gal.	\$729,414	
Sugarcane (Total)		28,945.0				\$14,900,104	
VEGETABLES							
Mustard (Fresh) (Total)	*	5.0	600.00	3,000	doz. bunches	\$21,000	
Okra (Fresh) (Total)	14	15.0	250.00	3,750	bu.	\$112,500	
Peppers (Total)		1.5					
Sweet Corn (Fresh) (Total)	11	10.0	500.00	5,000	doz. ears	\$17,500	
Tomatoes (Field) (Total)	10	1.0	800.00	800	lugs (20 lbs.)	\$16,000	
Turnips (Fresh) (Total)	*	1.0	600.00	600	doz. bunches	\$4,200	
Vegetables (Total)		33.5				\$171,200	
TOTAL ALL PLANT ENTERPRISES						\$49,774,756	
FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION								
Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value			
AQUACULTURE								
Crawfish (Farm) (Total)	325	13,000 Acres in Prod.	7,800,000	lbs.	\$4,290,000			
Alligators (Farm) (Total)			329,160	ft.	\$8,229,000			
Oysters (Total)			47,882	sacks	\$675,620			
Aquaculture (Total)					\$13,194,620			

VERMILION PARISH FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
FRESHWATER FISHERIES						
Freshwater Finfish (Total)	20			1,062,020	lbs.	\$481,307
Freshwater Fisheries (Total)						\$481,307
MARINE FISHERIES						
Shrimp (Total)	260			13,486,846	lbs.	\$20,705,006
Crabs (Total)	60			803,256	lbs.	\$559,147
Commercial Finfish (Total)	12			507,994,677	lbs.	\$16,763,824
Marine Fisheries (Total)						\$38,027,977
Fur Animals (Total)				2,720	pelts	\$26,384
Alligators (Wild) (Total)				23,377	ft.	\$701,325
HUNTING LEASES						
Waterfowl (Total)	150	250,000	No. Acres		acre	\$3,750,000
			Leased			
All Other Game (Total)	10	5,000	No. Acres		acre	\$35,000
			Leased			
Hunting Leases (Total)						\$3,785,000
Honey (Total)	8	10	No. Hives	96	lbs.	\$57
TOTAL ALL FISHERIES & WI	LDLIFE ENTERPRISES					\$56,216,670

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION							
	Number of	Units of	Total	Units of	Gross Farm		
Animal	Producers	Production	Production	Measure	Value		
CATTLE & CALVES							
Steer Calves							
300-400 lbs.			4,624	head	\$2,464,985		
400-500 lbs.			5,103	head	\$3,087,902		
500-600 lbs.			2,115	head	\$1,389,735		
600-700 lbs.			842	head	\$620,419		
Steer Calves (Total)					\$7,563,041		
Heifer Calves							

CATTLE & CALVES						
300-400 lbs.				2,719	head	\$1,271,880
400-500 lbs.				4,628	head	\$2,531,817
500-600 lbs.				2,920	head	\$1,809,320
600-700 lbs.				726	head	\$506,537
Heifer Calves (Total)						\$6,119,554
Yearling Cattle						
600-700 lbs.				1,486	head	\$9,176
700-800 lbs.				1,263	head	\$8,431
Yearling Cattle (Total)						\$17,607
Cow-Calf Pairs (Total)				2,347	pair	\$2,298,018
Cull Cows (Total)				5,436	head	\$2,154,586
Cull Bulls (Total)				363	head	\$336,882
Cattle & Calves (Total)	798	39,928	No. Cows			\$18,489,688
HORSES						
Brood Mares						
Race Horses	19	123	No. Brood Mares	79	head	\$632,000
Show Horses	269	1,105	No. Brood Mares	819	head	\$3,276,000
Recreation Horses	215	499	No. Brood Mares	178	head	\$267,000
Brood Mares (Total)						\$4,175,000
Stud Fees						
Race Horses		16	No. Stallions	189	mares bred	\$472,500
Show Horses		78	No. Stallions	427	mares bred	\$640,500
Stud Fees (Total)						\$1,113,000
Race Horses (Total)	19			207	head	\$2,484,000
Show Horses (Total)	269			503	head	\$2,515,000
Recreation Horses (Total)	1,709			3,403	head	\$5,104,500
Horses (Total)						\$15,391,500
POULTRY						
Edible Eggs (Total)	179	4,907	No. Hens	24,305	doz. eggs sold	\$15,798
Poultry (Total)						\$15,798
Quail (Total)	*	814	No. Breed	1,935	each	\$3,870
			Stock			
SHEEP						
Wool (Total)		483	No. Sheared	2,901	cwt.	\$725
Slaughter Lambs (Total)				437	head	\$69,456

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
SHEEP					
Feeder Lambs (Total)			72	head	\$5,601
Show Lambs (Total)			12	head	\$3,600
Stocker Sheep (Total)			39	head	\$2,925
Cull Sheep (Total)			173	head	\$9,515
Sheep (Total)	73	882 No.Breeding			\$91,822
		Ewes			
GOATS					
Show Goats (Total)			5	head	\$1,125
Slaughter Goats (Total)			23	head	\$2,496
Stocker Goats (Total)			4	head	\$346
Cull Goats (Total)			15	head	\$900
Goats (Total)	7	76 No. Does			\$4,867
SWINE					
Show Pigs (Total)			15	head	\$4,275
Feeder Pigs (Total)			498	head	\$15,538
Slaughter Hogs (Total)			837	head	\$109,354
Culls (Total)			143	head	\$24,024
Swine (Total)	39	163 No. Sows			\$153,191
TOTAL ALL ANIMAL ENTER	RPRISES				\$34,150,735

VERMILION PARISH \$140,142,161